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Outcome 1 - Area of a trapezium

Calculate the area of the following trapezium...

p

Outcome 2 - Imperial Measures - Length

Change the following units of length...

The Empire State building is 1450 feet
tall. How many metres is this?

John O'Groats to Lands End is 686 miles.

e What is this in centimetres?

Unit | Abbrev. | Metric Conversion tables...

inch | inor™ | 2:54cm || Unit | Abbrev. | Metric

foot | ftor' | 3048 cm|| ounce 0z 28-35¢g

vard vd | 9144 om || pound b 25359 g Outcome 3 - Imperial Measures - Weight

mile | miorm | 161km || stone < 635 kg Change the following units of weight... G‘I;
& fpondaweichs2l0lbs o SE® ™ Whet does he weighin klograms? v
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